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Introduction

Term evaluation is an important aspect of Continuous and Comprehensive Evaluation (CCE).
It covers the assessment of learning aspect of the CCE. The Kerala School Curriculum 2013
postulated that the examination system should be recast so as to ensure a method of
assessment that is a valid, reliable and objective measure of student development and a
powerful instrument for improving the learning process. The outcome focused written tests
are being used as tools for terminal assessment. Practical assessment is also considered for
some subjects. The syllabus, scheme of work, textual materials, teacher texts and learning
experiences may be considered while developing tools for term evaluation.

In order to make the examination system effective and objective, quality of the question
paper needs to be ensured. Questions of different types considering various learning
outcomes, thinking skills and of varying difficulty levels are to be included in the question
paper. This makes question paper setting a significant task that has to be undertaken with
the support of proper guidelines.

The guidelines for the preparation of the question paper have been divided into four heads
for its effective implementation and monitoring. The areas are i) preparatory stage, ii) nature
of questions, iii) question paper setting and iv) structure of the question paper.

I. Preparatory stage

Before starting the process of question paper setting, the question paper setter should
ensure that she/he has:

o Familiarised the current syllabus and textbook of the concerned subject.
« secured the list of Los (Learning Outcomes) relating to the subject.
o acquired the list of thinking skills applicable to the subject.
o prepared a pool of questions from each unit of the subject.
« verified the scheme of work and weight of score for each unit/lesson.
« gone through guidelines for the preparation of question paper for higher
secondary education 2014-15.
Il Nature of questions

Questions selected from the pool to be included in the question paper should reflect the
following features:

o stem of the question text should be relevant to the question posed.

« multiple choice questions should be provided with four competitive distracters.

« the possibilities of higher order thinking skills should be considered while setting
MCQs

« time allotted for each question should be justified according to the thinking skills
involved.

o the scope and length of the answer should be clearly indicated.



o questions should be prepared by considering the learning level of the learner.
« the question should focus on the learning outcomes.

« a wide range of thinking skills and learning outcomes from each unit/lesson
should be considered.

o varied forms of questions should be covered.

o there should be a balance between the time allotted and the level of question.
« question should be very specific and free from ambiguity.

« question text should not be too lengthy and complicated.

e questions can be prepared based on a single or a cluster of learning outcomes
which is scattered over one particular unit or units.

o cluster of learning outcomes from different units can be considered only for graded
questions (questions with sub-divisions).

» the possibilities of graded questions reflecting different thinking skills can be explored.

o while preparing questions for language papers importance should be given to the
language elements, language skills, discourses, textual content and elements of
creativity.

o while preparing questions for subjects other than languages, importance should be
given to content, concepts and skills.

+ questions should cater the needs of differently abled learners and CWSEN
(Children With Special Education Needs)

o+ the questions should contain varied forms such as objective type with specific
focus to multiple choice test items and descriptive types (short answer and essay

types).

o directions regarding the minimum word limit for essay type questions should be
given.

« sufficient hints can be provided for essay type questions, if necessary.

« maximum usage of supporting items like pictures, graphs, tables and collage may
be used while preparing questions.

« questions which hurt the feelings of caste, religion, gender, etc. must be completely
avoided.
Ill. Question paper setting
During the process of question paper setting the question setter should:

o prepare a design of the question paper with due weight to content, learning
outcomes, different forms of questions and thinking skills.

e prepare a blue print based on the design.

o prepare scoring key indicating value points and question based analysis along
with the question paper.

o while preparing scoring key, thinking skills should also be integrated.

o 60% weight should be given to thinking skills for conceptual attainment and 40% to
thinking skills for conceptual generation.



15 to 20% weight of total scores must be given to objective type questions and up
to 20% weight of total score must be given to essay type questions.

the highest score that can be given to a question in the question paper is limited to
10% of the total score.

while fixing the time for answering a question, time for reading, comprehending
and writing the answer must be considered.

The total time limit of the question paper - two hours for 60 scores and 2.30 hours
for 80 scores question papers with an extra cool-off time of 15 minutes.

IV. Structure of the question paper

The question paper should reflect the following features in general:

general instructions for the question paper should be given on the top.
instructions for specific questions can be given before the question text.

monotony of set patterns (objective or descriptive) should be avoided.

questions should be prepared in bilingual form.

there should not be any mismatch between the bilingual versions of the questions.
choice can be given for questions up to 20% of the total score.

while giving choice, alternative questions should be from the same unit with the
same level of thinking skills.

in the case of languages, language of the questions and answers should be in the
particular language concerned. Necessary directions in this regard must be given
in the question paper.

THINKING SKILLS
Category/ Alternative terms
processes
1. Remember Retrieve relevant knowledge from long-term memory
1.1. Recognising identifying- (e.g. Recognize the dates of important events in Indian
history)
1.2. Recalling retrieving - (e.g. Recall the major exports of India)

2. Understand Construct meaning from instructional messages, including oral,

written and graphic information

2.1. Interpreting clarifying, paraphrasing, representing, translating (e.g. Write an

equation [using B for the number of boys and G for the number of
girls] that corresponds to the statement “There are twice as many boys
as girls in this class’)

2.2. Exemplifying illustrating, instantiating (e.g. Locate an inorganic compound and

tell why it is inorganic)

2.3. Classifying categorizing, subsuming (e.g. Classify the given transactions to be

recorded in Purchase returns book and Sales returns book)

2.4. Summarising abstracting, generalizing (e.g. Students are asked to read an untitled

passage and then write an appropriate title.)



2.5. Inferring concluding, extrapolating, interpolating, predicting (e.g. a student
may be given three physics problems, two involving one principle
and another involving a different principle and ask to state the
underlying principle or concept the student is using to arrive at the
correct answer.)

2.6. Comparing contrasting, mapping, matching (e.g. Compare historical events to
contemporary situations)

2.7. Explaining constructing models (e.g. the students who have studied Ohm’s law
are asked to explain what happens to the rate of the current when a
second battery is added to a circuit.)

3. Apply Carry out or use a procedure in a given situation

3.1. Executing Carrying out (e.g. Prepare Trading and Profit and loss Account from
the Trial Balance given and find out the net profit.)

3.2. Implementing  using (e.g. Select the appropriate given situation where Newton’s
Second Law can be used)

4. Analyse Break material into its constituent parts and determines how the
parts relate to one another and to an overall structure or purpose

4.1. Differentiating  discriminating, distinguishing, focusing, selecting (e.g. distinguish
between relevant and irrelevant numbers in a mathematical word
problem)

4.2. Organising finding coherence, integrating, outlining, parsing, structuring (e.g.
the students are asked to write graphic hierarchies best corresponds
to the organisation of a presented passage.)

4.3. Attributing deconstructing (e.g. determine the point of view of the author of an
essay in terms of his or her ethical perspective)

5. Evaluate Make judgements based on criteria and standards

5.1. Checking coordinating, detecting, monitoring, testing (e.g. after reading a report

of a chemistry experiment, determine whether or not the conclusion
follows from the results of the experiment.)

5.2. Critiquing judging (e.g. Judge which of the two methods is the best way to solve
a given problem)

6. Create Put elements together to form a coherent or functional whole;
reorganize elements into a new pattern or structure

6.1. Generating hypothesizing (e.g. suggest as many ways as you can to assure that

everyone has adequate medical insurance)

6.2. Planning designing (e.g. design social intervention programmes for
overcoming excessive consumerism)

6.3. Producing constructing (e.g. the students are asked to write a short story based
on some specifications)

Considering the intellectual level of learners, while setting the question paper;
1. 60% weight may be given to thinking skills used for factual and conceptual
attainment and

2. 40% weight may be given to thinking skills for conceptual generation (higher thinking
skills has to be ensured in this category). Thinking skills for conceptual generation
means thinking skills needed for elaborating the concepts.



Refer the range of thinking skills given above. We can include the thinking skills no.1.1
to 3.2 (11 processes) under first category and 4.1 to 6.3 (8 processes) under second

category.

Guidelines for settinE guestion paper - Biologx

1. The total time limit of the question paper is two hours. One hour each for Botany
and Zoology with an extra cool of time of ten minutes each.

2. The weight of objective questions should be between 15%-20% of total score and it
should carry one score.

3. Possibility of including different types of objective questions along with MCQs
should be explored keeping due weight of the objective type questions.

4. MCQs can also be included along with multilevel questions cand also included.

5. The weight of essay question should be between 15%-20% of total score and it should
carry three scores.

6. The short answer question should carry two scores.

7. Graph, diagrams and pictures should be included in the questions wherever
necessary.

8. Diagrams should be included only from the SCERT textbook.
9. Specific hints should be included in the questions if needed.



Sample Question Paper - |

HSE-LEY. NaAME : e

March

PART - Il - BIOLOGY

Maximum : 60 Scores

Time: 2 hrs
Cool off time : 20 Minutes
Preparatory time : 5 Minutes

7

~

There is a 'Cool off time' of 10 minutes each for Botany and Zoology in addition to the writing
time of 1 hour each. Further there is 5 minutes 'preparatory time' at the end of Botany

General Instructions to candidates:

examination and before the commencement of Zoology examination.

You are neither allowed to write your answers nor to discuss anything with others during the ‘cool

offtime'and preparatory time

Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the same
itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary

Nonprogrammable calculators are allowed in the Examination Hall.
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DOMOO af) 9MOCMI, AQIBRAIOIROWV] @RYUVAIMIAWERD aldslal.

DOMOEBUWB ag) Q@M@ MMI 2103368303 (WELOANBQJo AUOWIBeEMo.
220 GaldBYEBRUBEN)0 DOMOO af)9}@EMo.

80) G2l0BiMMIB QOMOOHAL)MIM HGOOEVMS)AV BHFIMMIT PalG2I0B3)6E8BB)0 GRED® GaldBIM
MIGIE3 I @OAN HDOEEVNS)CHNENBMIET).

MBS H)SENSWB, 2l(@6@BUB, (VOaN)B:UB, agyamilal DOMOEGala|ClGBOMOIN MNBOWIGlBHeMo.
©2108363303 QRIVOSOMIEN0 M@3BIWIS)6eNE.

@RAUMIMSBS TLORIG) TVAAUODLEBBUS HEISIHNEMo

Gl HUD 6)21QOIMIGHIOD BHITIHN)CRIQO}HUD al®1d:H0a00F]08 DalcWIUllendo.

/

guestion




PART - A

BOTANY

Maximum : 30 Scores
Time: 1 hour
Cool off time : 10 Minutes
1. By examining the four match pairs @069 ®ATIGIH)M MIET alBEER0WIBUB ald]

given below find out the correct
matched pairs from the alternatives
given below.

(i) Photolysis of water - Stroma

(if) Carbon fixation - RuBisCO
(iii) Accessory pigment - Chlorophyll a
(iv) C, Pathway - Calvin
A. (i) and (iv) B. (ii) and (iv)
C. (ii) and (iii) D. (i) and (iii)
@
The protein coat of virus is:
(A) Plasmid (B) Plastid
(©) Basidium (D)Capsid
@
Nodule formation in leguminous plants
occurs by the continuous interaction
between Rhizobium and the plant. Write
the main stages in the nodule formation.
2)
An incomplete TCA cycle is given
below. Complete the numbered boxes
by selecting appropriate compounds

cUOWla] VOIVOWV alBGRIW]IHOS ISP
©H0S)OM101H660)aM 2OM06BSIG3 MIaN)o
OO 2f)P)®) .
(i) =eomlen candegogladlad - alssoa
(i) @odeniem abldEITVAUM - O)NAMSEH>0
(iii) @d:avmo] alyieamd’ - 6goc00anlTd ag)
(iv) C, anomeal - :oc3ailmd
A. (i) and (iv) B. (ii) and (iv)
C. (ii) and (iii) D. (i) and (iii)

(1)
9o0M1OMg G(a105103 @RYQIOEM A6T:
(A) qomiaiaus (B) qioadglaus

(©) snianvlawlwo (D) esyoaiansladl

@
210G §21SIW)OS GAIO)HSIC3 HENBOHIAN @)
HHUB s)e)oemosnﬂ@(o‘mﬂemg (aIQIBOManel
QOWOEM DENBOB)AN@. DD (al(&H1VWOS
(aIWOM CLISEBBUB ag)9)O))b:.

)
2)AIOS M@BHIVIGBH)aN  TVoW)HD6BBSIC3

MIM)o @RMEWOIRIAOVAI G060 S)OI0)
@Pal)@emno® TCA a0 al)BOIWIB)H:.

given below.

®

!

Acetyl CoA

@

Malic acid

N

@

O-ketoglutaric acid




Compounds

Pyruvic acid
Citric acid
Phosphoenol pyruvate
Succinic acid
Oxalo acetic acid
Dihydroxy acetone phosphate
")
Compare the gametophyte of moss and
fern.

2

. (A). Observe the figures A and B given

below and explain the processes
occuring in each figure.

H,0

(OR)

(B). Explain pressure flow hypothesis of

translocation of sugar in plants.

2

Equations (1) and (2) are given below.
Analyse the equations and find out the
RQ values and type of substrates in each
case.

Vo W) H®6BBUY

e0aln)aile; @Rl
alsle @ryadlol
GaNdMVEANIMEMIUWD HHAI)EAIG
B MSImE @RymMSlal
S0 IVIGRID @RAVGlE; @RIVl
HOWHOAOE LISV @RAVERIEMD GaNIMENY
2)
c20M1OM®)o alM@3O2JSIVWOSWI0 1OAIEQD
992N MOODAL0 6)21Q) .
2)
(A). anaes n@BHIDNGe9M A, B agyam’
2fll@eBWB moledla] @oal s8ocooanleno
MoRAIlENM (al(B1Wd:03 QlVdBRIE)E:.

o
1)

vl

(@Ree)®:103)

LIVYEBBSIT3 @RYaOIBo MVOAIAOMO 21N
(al(&»]1® QAUYE® 20 B9} (alaH@ o0 @8O
969a0Go 0OIAVIaY  allvoBR0Ee)H:.

2)

MBSV B1E9)M 06N TLRAIB}EBBUS Qilud
@& elMo §210 @) RQ myeryalyo
TUENIAVE(SQlo BHONBOTI af) 9@ .

1. CH,O,+60, - 6CO,+6H,O + Energy
2. 2(C HO,) +1450, -~ 102CO,+ 98H,0 + Energy

98 6.

2)



10.

Observe the given diagram

Write the family of the floral diagram
from the choices given below.

A. Solanaceae

B. Liliaceae

C. Fabaceae

D. Brassicaceae

Write the floral characters of the
identified family.

©)

.Anaphase of mitosis differ from

anaphase I of meiosis. Choose the
correct reason from the following.

A. Centromere split and chromatids
separate.

B. Reappearance of nuclear
membrane.

C. Pairing of homologous
chromosomes takes place.

D. Crossing over occurs.

Explain the preceding and succeeding
stages of anaphase of mitosis.

3)

The figure of a vascular bundle is given
below.

M@BHIDIBE0)aD ail(@o W01H:3]06) .

M@KV CIBNM a0EBO0T WD
anoglell o@eman 2)AIOSWIBS DO 06B13
SlABMI GO SO TN L) @) B>

A. ervosemavlcw
B. eilelcoavlcw
C. anoceniavlew
D. (snimilesoailew

@@l 0l 0021el®}es 0680003 auail
GUOAHDBHUD af)P)O)bs.

©)

. (H2RoVODION3 @IMCNAV DDMERONOMIREAI

@MEaNV 1-G8 MIAN)o AUY@IOTVE|SIB1H6)
an). VOBIVWIW &HOV6EMO BHAENZAN af)PID)

.

A. ervmesonlod allela] a@:0m0glan)
U8 GaIBalldlw)am).

B. myglwod mimooe ailene)o (almyem
20c)aMN)

C. VA0 IB(HHINETVIM U3 GEROUS
Gal@)aM).

D. ewomilod) 80aid mseeyam).

(BB WOMIOM @RMOGan MVIM M)Mal)o
GUoaHOI)0 DB8B 2LISEBUE Ailud3]HGlHe)d:.

3)

. aaUanelndmimslellong all@o oo 6@0s)

O10166)aMM).

10



a. Observe the figure and identify
labelled part C

Explain the activity of identified part in
dicot stem.

3)

11.a.From the alternatives given below, find
out the correct organelle known as
power house of the cell.

(A) Nucleus (B) Mitochondria

(©) Ribosome (D)Endoplasmic

reticulum
Compare the structural similarities and
differences of identified organelle with
that of chloroplast.

©)
12. Plant growth regulators are widely
used in agricultural and horticultural
practices. Write any six such practical
applications of plant growth regulators.

3)

13.(A.)Plants growing in tropical regions
show high rate of biomass productivity.
Explain the biosynthetic pathway
helping for this.

(OR)

(B) Explain photophosphorylation through
chemiosmosis.

3)

11

a. aflmo Moletlapesos C agyan) @Rswos
9a|S)OMI® BINo @IBlafolw)d:.

@101 2fOleom B8OV MO (UGG Mo
POWEHNIG OTYAAITE af)eBBOM MSHN)aN)
)OI >

3)

11a. 21ja1®s ©0s)EM101E9M OO ©6BBS103
MM o EHOWADING alAIBODAV ag)NAIW
©a]S}AN EHOUD00UN0 HEENBOIN) .
(A) myalom (B) eoncgocsosmusio
(©) es0ssn1060V0 (D) agyadeanoglombails;
®0glon)elo

®1@12J01610 ¢ NOBIOHPWI0 OB
MOMIOMRV)o CLISMVILNBS MVAOMDHB)0
QY@ IOTVEBBSBI0 af)$I@)d>.

)
12. ®0@a1» 0o WOM)o €a00d51HUWBaj0leno
VAV BaOOBGREM)EUB AUYOAIBHAIWV] DalEWO
Glan)an). TVAVYEaOIBEREM)HBIHNS DO
0OMIEN88 BRYO DalGYINEBBUD af)PIM)H:.

®)

13. (A.)e(s9a]lenmd (aIGBUIEIY @06MaM aVIVY
@Bs103 NIGWIN0 ~ OLIaIdBMO AUBOD B)S)
@enem. @M TVa0IWVEH)IM NIGVIM]
@GS alooE aNlwE1E:0loe) .

(@Ree)®:103)

0H2180 M o alavlenns @anNd@50GaNod
M0GaNI0IGRInHM QllWdBRIE)S:.

©)



Maximum

Part B
ZO0OLOGY

: 30 Score

Time 1 hrs
Cool off time : 10 Minutes

All species of lion belongs to same
genus. Identify the generic name of lion
from the list given below.

(Homo, Solanum, Panthera, Musca)
@
Based on the presence or absence of

structural protein collagen, pick the odd
one out

(Cartilage, bone, blood, adipose tissue)

@
Observe the given pictures (1) and (2)

(1

Starch
+

Salivary
Amylase

II\_g/’lTemp:ZSGC

a) Write the fate of starch in the test
tubes (1) and (2)
(b) Name 2 factors that regulate

2
Raju was taking lunch with his class
mates. They were talking and laughing
while eating, suddenly Raju started
having 'hiccups'. Give the reason for
this.

(Hint: Oesophagus , trachea,

enzyme activity.

pharynx,

epiglottis) (1)

12

afelo aMdloaoe@Bglo  8c0 BM) 163 6als)
an). @anlalesyan ellgilad mlad adloao
O3 BMOIH Gald af)9)®)d.

(Homo, Solanum, Panthera, Musca)

(1)

M (S 2100 6(al0510  ©HO8OROMW
aruommlwyano @RALIAVIWIAN0 @RM)ATVE]2]
QU@ TV DROVD) 0f)P)@)b>.

(®085leel, ag)l, 00®o, @PSIGaomy Slay))

(1)
aflo (1),( 2)worslen)s

(2)

Temp: I\__/I

above 90C
(a) esqysyeni 1caI)o 2 GRI)o qROBafled

20Q0 af)D af)DANE}®) .
(b) apadavlalend (alidommoe Ml
B9)IM O6NE ALISHEBBUB )P} (2)
OR) MVa0AIOlHEBINSO0|0 O a|B8HHUEMO
&S0 BHWOV0)aM). MVoaVOGlajjo ail@laf)o
B&HUEMo H¥le9)M@IMIsWI@d or)allm
PalogmM) af)eeled Q008 @)s6eEl. @leng
B006MO f)9)®)Bs.
(qvya1m : Oesophagus , trachea, pharynx,

epiglottis) (1



5. Complete the blanks with appropriate

5  (00lOW alB6BUS DalcWoulla] afl§)Galow

given in figures X and Y.
Differentiate them. 2

o

IRk

T

words. BONEBUW al)Blaflee)s.
Group Animal Respiratory (D] =70l SITOMOAIWalo
Organ
Inverte (b) Tracheal tube snMBeoId (b) (S8 Sy 6ni
brate sleenig
Earthworm (© a6l (©
Fish Gills 200 ARBMS
() Mammal (d) (a) oo (d)
2) (2)

6. Two molecular structures A & Bare | & 2fl®o A & B oaosjovidlesmym. @ocs
given. After analyzing it, select the aflo&eio §alT® MY HEICVWINHSW
nucleotide and write its name. 2) TIOOEOMSIOD  CalOVPYD)cn.

()
O
HOCH, O, Adenine HO-P_OCH, 5 Adenine
| 3
OH
OH OH OH OH
(A) (B)

7. Vermiform appendixisapartofhuman | 7 ©®@21Ga000 @o @IS M) 2Mauy
digestive system. Surgical removal of Ba0CMBID Al eOOTINR Va0, DD
vermiform appendix will not hinder the 8000 M%H0 H2IV @O0 GO® BaOM
normal digestive process. Give reason (e ®1O®  IoWTHnMIg.  &306mMo
1) ) O >. (1)

8. Fishes of two different classes are 8 06 O 15 Oals DOVIEBROS

afl@emwd X, Y (0orslen)s.

omlolenym ofl(@omleel aorv Y63 ud
DUWO|S)AN RO 1 HB)OS AUI®YOTVO

)9}, (2)

L]
L RN

it~



10.

11.

12.

13.

14.

15.

Some muscle fibres are called red fibres
while other muscle fibres are called
white fibres. Distinguish between red
fibre and white fibre. 2

Salient features of two phyla are given

below.

Identify the phylum a & b
a) Exclusively marine, adults are
radially symmetrical, presence of
water vascular system

b) Body Dorso - Ventrally flattened,
acoelomate, flame cells present.(2)

Glucose homeostasis in blood is
maintained jointly by two hormones
secreted by pancreas. Justify the
statement. (4

Compare and contrast any 2 salient
features of chordates and non -
chordates. 2

Uremic patients can be treated by
removal of urea from blood.

a) Write the name of the method of
treatment

What is the ultimate method in
correction of acute renal failures.
2
Compound eyes are situated at the
dorsal surface of cockroach head. Each
eye consists of about 2000 ommatidia.
Write the significance of ommatidia in
cockroach eye. 2

(@) Explain the process of reflex action
with an example 3)

(OR)
Prepare a flow chart on the
mechanism of vision, specifying the
significance of photopigments. (3)

b)

(b)

14

10.

1.

12.

13.

4.

15.

aflel aaVlG8 ©9anmnIn)@®:as8 HOWS HHan6NIN)
SUB )Mo 2Q) aflel AAVIEE HORNMIO)HOB
9HAIQ HHANMIOYHUB af)M)o alOW)AN). HOWD
9HANMIN)HB)0 HOAIY HOANMIO)BHB)o @]
(2)

2)QIOS ©H0S)OmIEleNM Oeanelo a & b

enNss QIMIOMVo af)RI®)d:.

BOETROI) .

(@) ®sel@d 0o(®o 06em)an aljdey
A8dajoomle cowlweil miloom(s]
HOHO3 @YW, Q1A AUDMVELINAQ TVITYo
988 6caNLlo

(b)

0070 EWOBEMO Haldoeil aleM o),
ag)Mlcencaq, afoswlo OAVL)EUD

(2)

OHOOWIOLI R)EHHOITV Ga0OBIEIFRIMSITY

288 eeanLlo

M1eInBEmIN©®  aldM(H1WIaVlend o6ns
Ga00@BAEM)HBIOS H)JF0W  (alQAUIBR@MMo
2EIN06M.MIEBBSIHS DAMOO TVIW)E>O1E6)D>.

)
CHOBEAQ)HB)o EMIENB-CHOBEAQ)HB)0
®e2lenss oens ALAlGUIAH®E:U3 IR0
9210® GRAI ®1eN8s8 Qly®}OTVEEBUD
) ®)O))d>. (2)
©0712l8s GEOUIIBEIE3 W01 M1Bs0 21D
2fl&1onSlee008 TuoUles)o.

@)
(b)

DAilOSs a1002@UdlEaM 2ildslorvo 1]
) ®) ).

N)O)DOROW QUYHE DHVO0)BUBHBE OBS
@200 aflaloro @I ag®? (2)
aldQ©)HS ®RIW}HS al)0oRINOMIEM
GHOMIDENE BGM(Mo. BIGOO GHOMIDENS
en@o@Imsslenoc 2000 320 WlWE:us Dens.
alogOes Hapleel anglwlow)es

(2)
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16. A) A special case of Rh incompatibility

(mismatching) has been observed
between pregnant mother and
foetus.

Name the condition mentioned here
and explain the situation leading to
this condition. Write the necessary
precautions needed for avoiding
this condition.

(OR)
Explain how the rhythmic

contractile activity of heart is
initiated and maintained? 3)
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Sample Question Paper - | (Botany)

Answer Key
Qn. | Sub Value points/Scoring indicators Score Total
No. | Qn. splitted | score
No.
1 B 1 1
2 D 1 1
3 * Rhizobium bacteria contact a susceptible root hair Y2
and divide. Ya
* The root hair curl and bacteria invade into it. Y2
* Infection thread carries bacteria into the cortex and pericycle| %2 2
* Division and growth of cortical and pericycle cells lead to
nodule formation.
or
Diagrammatic representation of steps involved in the
formation of root nodules give full score
4 2
1) Pyruvic acid / pyruvate Y2
2) Citric acid / citrate
Y 2
3) Succinic acid/succinate &
4) Oxaloacetic acid/OAA|  Pyruvicacid 1
or ¢
Acetyl CoA
Oxaloacetic acid Citric acid
[y
v
Malic acid O-ketoglutaricacid
Succinic acid ¢
5 Gametophyte of Moss
* Protonema /creeping, green branched, frequently
filamentous structure/its diagram Ya
* Secondary protonema/upright axis with spirally
arranged leaves and multicellular branched rhizoids/ Ya
its diagram 2
Gametophyte of Fern
* Prothallus Y2
* Inconspicuous, multicellular, free living, photosynthetic Ya
thallus with male and female sex organs/
Diagram of prothallus
6 A) Plasmolysis/Exosmosis Ya

16




Qn. | Sub Value points/Scoring indicators Score Total
No. | Qns splitted score
A When the cell is placed in hypertonic solution, water moves
out of the cell and cell shrinks/Explanation of plasmolysis Ya
B) Turgid cell/ Endosmosis Ya 2
When the cell is placed in hypotonic solution water diffuses Y2
into the cell causing turgor pressure and cell becomes turgid
/ Explanation of endosmosis.
OR OR OR
B. * Glucose prepared at the source end by photosynthesis is
converted to sucrose which is transported to phloem seive Y2
tube cells by active transport
* Phloem becomes hypertonic, water from adjacent xylem Ya
moves into it by osmosis 2
* Osmotic pressure increases, phloem sap moves to area of Y2
lower osmotic pressure - sink.
* When sugar is removed osmotic pressure decreases and Ya
water moves out of phloem.
7| ) | RQ= 2 = V.
. i) Q= 60, 2
glucose is the substrate Ya 2
ii) | RQ= =07 102CQ 1
fat is the substrate 1450, Y2
8 | a) | A. Solanaceae 1
b) Floral features : bisexual, actinomorphic, five sepals,
gamosepalous, valvate, five petals, gamopetalous, valvate 2 x 4 3
aestivation, 5 stamens - epipetalous, bicarpellary, syncarpous
superior ovary with axile placentation (any four floral
features) / floral formula give 1% score
N
&i K(5) C(5) A5 Q(Z)
9 | a) | A. Centromere split and chromatids separate 1
b) | Metaphase 2
* Spindle fibres attach to kinetochore of chromosomes
* Chromosomes are moved to spindle equator (any one) Y2 3
or diagrammatic representation
Telophase 2
* Chromosomes cluster at opposite spindle poles
* Reappearance of nuclear membrane around the Ya

chromosome cluster (any one)
or Diagrammatic representation

17




Qn. | Sub Value points/Scoring indicators Score Total
No. | Qns splitted Score
10 | a | Cambium/Intrafascicular cambium 1
b | * Process of formation of cambial ring 1
* Activity of cambial ring and formation of secondary 3
xylem, secondary phloem, secondary medullary rays. Ya
* Formation of annual rings with heart wood and sap wood.
(any four sequential steps) Y2
or labelled diagram-give 2 score
11 | a. | B. Mitochondria 1
b. | Similarities
* Double membrane bounded organelle
* Matrix with enzymes
* Single circular DNA molecule Ya
* 70S ribosomes (any two) 2
Differences
Mitochondria Chloroplast
* Presence of cristae/infoldings of | ¢ Presence of 3
innermembrane pigment containing
thylakoids /grana
* Enzymes for aerobic respiration and stroma lamellae Y2
* Enzymes for
synthesis of
carbohydrates Ya
(any two) or
Diagrams of the two with labelled parts give 2 score
12. Auxin
* Initiate rooting in stem cuttings
* Flowering in pineapple
* Prevent fruit and leaf drop
* Used as herbicides
Gibberellins
* Increase the length of stem in sugarcane crop. Yax 6 3

* Bolting in rosette plants

Cytokinin

* Delay of senescence

Ethylene

* Initiate flowering in pineapple

* Hastens fruit ripening in tomatoes, apples

¢ Promotes female flowers in cucurbits

18




Qn.

No.

Sub
Qns

Value points/Scoring indicators

Score
splitted

Total
Score

Abscisic acid
* Induce seed dormancy
¢ Closure of stomata

(any six practical applications of plant growth regulators)

13

C, pathway/Hatch and Slack pathway.
* PEP in mesophyll cells accept CO, by PEPcase and
formation of OAA in mesophyll cells.
* Formation of malic acid and transportation of C, acid into
the bundle sheath.
* Break down of malic acid and release of CO, and C, acid-
Pyruvate.
* CO, in bundle sheath cells enters in C, cycle.
* C, acid transported into the mesophyll cells and convert
into PEP.
or Schematic representation of C, Pathway - Give 2%2 score
or Reasons for increasing biomass productivity
* Kranz anatomy
*No photorespiration
* Breaking down of C, acid and release of CO,
* Increase CO, concentration in bundlesheath cells
* RuBisCO functions as carboxylase in bundlesheath cells
(give 22 score)

%)

x5

OR

* Splitting of water takes place at the inner side of the
thylakoid membrane, protons accumulate in the lumen
of thylakoid.

* Movement of electrons from photosystems, protons are
transported across the membrane of thylakoid.

* While transporting electrons, protons are removed from
stroma into the innerside of lumen.

¢ Protons are removed from stroma for the reduction of NADP

to NADPH

* Decrease in number of protons in the stroma and creates
higher proton gradient in the lumen.

* Proton gradient broken down due to the movement of
protons across the membrane to the stroma through Fo

of ATPase and release energy to activate ATPase catalyse
the formation of ATP from ADP.

%)

%)

%)

%)

%)

%)

Total Score

30

30
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Sample Question Paper - | (Zoology)

Answer Key
Qn. | Sub Value points Score Total °
No. | Qns
1 Panthera 1 1
2 Blood 1 1
3 Fig 1: salivary amylase in saliva convert starch to maltose Ya
Fig 2: salivary amylase is destroyed at high 1
temperature/Enzyme destroyed at high temperature/
No conversion of starch Ya
PH/temperature/substrate concentration (any two) Y2+ 1 1
Food enters trachea causing hiccups 1 1
5 a. Vertebrata Ya
b. Insect /Name of insect 2 2
c. Skin Ya
d. Lungs Ya
6 B - Nucleotide, Adenylic acid 1
1 2
7 Vestigial Organ 1 1
8 X : Chondrichthyes Ya
Y : Osteichthyes Ya
Chondrichthyes - Cartilaginous endoskeleton Ya 2
Osteichthyes - bony endoskelton (any difference) Ya
9 Red fibre :  Myoglobin content high, plenty of Yo +12
mitochondria, large amount of O,,
Aerobic muscle (any 2) 2
White fibre :  less quantity of myoglobin Y2 +1/2
A few mitochondria less amount of O,
Anaerobic muscle (any 2)
10 a. Echinodermata 1
b. Platyhelminthes 1 2
11 Insulin - Converts glucose to glycogen 1
Glucagon - Converts glycogen to glucose 1 2
12 Chordates : Notochord present/Heart ventral/
post anal tail present/Gill - slits present/ central nervous
system hollow, single (any 2) 1
Non chordates: Notochord absent/Heart dorsal/post anal 1 2

tail absent/Gill - slits absent/ central nervous ventral,solid,
double (any two)
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Answer Key

Qn. | Sub Value points Score Total
No. | Qns
13 a. Haemodialysis 1
b. Kidney transplantation 1 2
14 Mosaic Vision 1
receive several images of an object, more sensitivity 1 2
15 (A) Stimulus — Receptor — Afferent Neuron — Dorsal root 3
ganglion - CNS- efferent neuron - effector
eg : knee jerk reflex
OR OR
(B) Light rays — retina — dissociation of photo pigments
- Action potential —»  Visual cortex -~  Image 3
16 (A) - Rh Incompatibility : Rh -ve blood 1
forms antibodies if exposed to Rh +ve blood. 3
Erythroblastosis foetalis.
Administer Rh antibodies to mother after I* delivery
OR
(B)  SAN - initiate and maintain action potential 1
- Pacemaker 1
AVN, AV bundle, purkinje fibres. 3

21




SampleQuestion Paper -1
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Part-A

BOTANY

Maximum : 30 Scores

Time: 1 hour
Cool off time : 10 Minutes

1.

4.

Names of different fungi are given
below. Find the odd one from the group
and justify your answer.

Aspergillus, Neurospora, Rhizopus,
Claviceps. @

Read the following statements and select
the correct answer from the given
choices.
(i) Aestivation is the arrangement of
sepals and petals
(ii) Placentation is the arrangement of
ovules in the ovary.
(iii) Venation is the arrangement of
leaves.
(iv) Phyllotaxy is the arrangement of
veins.
A. (i), (iii), (iv) B. (@), (ii)
C. (i), v) D. (), (i), (ii)
&)

Name the type of chromosomes given
in figure A and B

Write any two differences between
transpiration and guttation. )

21)10S M@31VGlen)am ailallw®oo anow
MBSO MWIaMYo &) SOWITINQ SO DM
N0 DOMOo MOV TH>B1H6) H>.

@RYTVAIRE]RIT), MLHEOITVEAI0, HOHOGTVO
I, goailemaims. 1)

21)A10S M@ VNG1e)M MLl (aIT®oQl
MHWB AWa] (0CIVWIV (AIMNIGOUMHOS
M) afla floeaN DO HD OO S)HN)H>.
(i) ss-alesEsges allmiomaosm agayl-
GQIaH3
(ii) @oOIVIM B0y 8)>810s allmyoav-
2061 JOaTVEAGaHB.
(iii) meisg)ps allmyoavacsny arlemauad
(iv) mlesmgyes allmyoavmdsn) anlegloso
SV,
A. (ii), (iii), (iv) B. (i), (i)
C.(@{), (iv) D.(), (i), (ii)
Q)

A, B agaml 2l oeBscd BH06MIAN  G(HH0D
GILODBB)OS Gald af)P)@)ds.

1)

(s0MMadlGOaumM)o NWESaHM)o @o2]enNss
aBOO®ESIR0 OME AIYMIOTVEBBUS af)PI)H>.

2)



Photochemical phase takes place in the
grana of chloroplast. Write the major
stages of that phase.

@
Diagrammatic sketch of diplontic life
cycle is given below. Analyse the sketch
and construct a haplontic life cycle
pattern.

@
Essential elements are grouped under
four categories on the basis of their
various roles. List out the four
categories.

@
A table with columns A, B, C are given
below.Analyse the table and match the
items of column A with the items of

oD@W@@;Gmmmqg (DO DRI (ald>00Dd
2gI50 MSBN)MN®. @R (al(BVWYOS (AIWIM
2LISEBBUY af)P}M)d>.

@)
am(s%oqgm? 210 ®al(HO0M) B0) ORI
2fl(@o 21QIOS OBIS)OBIBIHH)IMN). 0D 2 il(@o
AflHLIMo §210®) noocg%goc@(ﬁ? 21 ® al(H>
ODIOG 2ODY D DWIOIED)D>.

@
@RAIVDY M) LI EEBOS @RAIW)HS WAAGHIM
@MV Ela] moel allcow oWl ®oo®lal
afl@lee)am). moel aflcoweasgio efllqy
©21Q)) .

@
A, B, C agyamT c5:086m88)88 olSls: 21)Q16S
005) M1 0169 aN). algld GRal(WL0la]
cH080 A wleel mmeaBeg B vlpeiw)p C

column B and C. leeIVio MMEEB)20W] Gal®)oalS]
GoIBH6) .
A B C
Ribosomes * Infoldings of * Lipid synthesis

mitochondria

reticulum

* Rough endoplasmic

* Aerobic respiration

Cristae

* Disc shaped sacs in
golgi apparatus

* Photosynthesis

2)



10.

11.

12.

RuBisCO can catalyse carboxylation
and oxygenation. Substantiate this
statement explaining carboxylation and
oxygenation reactions.

2)

Some symbols used for constructing
floral formula are given below.
Observe the given symbols and explain
the floral characters revealed by the
symbols.

)
Choose the correct answer from the
alternatives given below.

a. Pairing of homologous
chromosomes is ...................
(crossing over, synapsis,

terminalization, syncytium)

b. Write the type of cell division in
which the identified event occurs
and write the significances of that
division.

3)

Observe the given graph.

Identify the type of growth curve
indicated by the graph.

Write the name and role of any two plant
growth promoters.

©)

0NV CHOW B 0B GENIO B> MU Gl MM
(alQUBOD M OO W)o B0d V1R EM aH
(IO MHOMV)o DIBCIMOS}OMIMW ]
©)o. MDD OME (alAUGCMMEBS)o aflaidla]
(I @OQIM  AVOW) BB .

2

10 ade800@ €anoBMm)el af)PIMOM ©alcOusl

BN aflel V)2l 68303 MTIB1V1BIB6IMN).
@pal AlldeIMo §210® al)allod age®eldo
MANECR U@ HOB @Al aV)allafl8eam)
)OI @) b,

yo
e, cC

A, G

(2)

11. anaes e&os;omolenam OOm 0 6EBSG3

Mla)o VOCIVWIVD HDMOBEITINS)EY DD LD B>

a. aUAOal GEIDCMVIMBGHB)OS GRIOWI
Gal@LIOEM......ceoeereerereens
(eomSlod’ 8309013, MSIMaaiavlm, asdail
MOSLIGTVAHUM, MVIBMlaH o)

b. «g® ®oo emovailemmOmIcn 0)d:
103 @G12J01e0D (al(B1Q MSHNAND)?
@R CHOUAIIBRMOMIN (A 10WOIM §6BBUI
af)(0y?

©)

12. m@3sslldlenm (»oal M0 1eHlee)d:.

-

(2af aB® 00 GNIOD OBHAANOM V)il
aflonyam).

aqLUaIVYEBBBYIOS AUSA2OW TVa0I W] HHYaN
aBOO®B1RI)0 06NE MVAVYEOIBEAEM)BHB)OS
Gal0)o @RAIW)OS WARANO af)RyMB.  (3)



13. (A) Figure of monocot stem is given

below. Compare it with monocot root.

OR

(B) Different types of tissues are given
below.
* Guard cells
* Phloem
* Palisade parenchyma
* Cortex
* Xylem
Categorise the above tissues under the
heads of different tissue systems.
©)
14.(A) Fill in the blank
a. The process of breakdown of
glucose to pyruvic acid is called
b. Write the steps of the above
identified process where substrate
level ATP synthesis and NADH +
H* formation take place.

OR

(B)a. Name the process in which pyruvic

acid is converted to CO, and ethanol.

b. Explain the fate of pyruvic acid in
aerobic respiration.

(4)

13. (A) cmocemoc05 oqualemd ail(@o aljales
M@3&101G169)aM). @G CROGEMICHNIS 0)5)-
200 ®OO®RAY0 2ITD af)PIM)b.

@616, 103
6L

(B) ayoymi® @moomlenss sHeisd aljaes
M@3H1 DN B1H6aN).
o H0QUIG3 GBHOUDEBRUY
e ofiG8OWO
o a0ellerual aldOMeOEn
® GHIBSHMY
* ©6TLERIo
MBS0 MDIBIW HLIGHOHS AUYDITV® SlaHy)
WIQUODIE3 DOo®IG16) 2|9} @) b>.
(3)
14. A.
a. QAT ©9al0)aild @RYaVTWIW]

aflg)Galo® @0Wo al)@laflee)d:.

afleel s1eo)an lad(] @ Wo6em

b. 2)®8® ®16layoleom (al(H]® ]G3
(msm”mﬁcgtsg ee1aed ATP gelatosmal)oe
NADH + H* gelalosmanoe msean
2LISEBBUD af)P}M)d.

ma%eaﬂ«ﬁ

(B) a. oeain)ails; @pINIAL @036n1e3 WEWo
SOHTVA)0 ) OMEMIBlo @RV MO0
(B B ?

b. anwuinmemlod eeal0)ails:; @ryasiausia
TMoRAMNEHNAM @0Q0 af) 9} .

(4)



Part-B

Z0O0LOGY
Maximum : 30 Score Time: 1 hrs
Cool off time : 10 Minutes
1.  Odd one out 1. 8c0o alleonomelLoEDDIOM &HeMEOm)d:;
Wuchereria. Taenia solium Wuchereria, Taenia solium,
Ancylostoma, Ascaris. (1) Ancylostoma, Ascaris. (1)
2. Chemical structure of amino acid 2. 'Serine' ayam @oalemo @pMIUIO *Ism
"Serine" is given below. Fill up the blank o) BODIVOE 5,
portion. 1) Q)
COOH
H C NH

3. Some lipids have phosphorus and | s
phospho related organic compound.
Select a phospho-lipid which is found
in cell membrane @

A. Collagen B. Chitin C. Lecithin
D. Rubisco

4. Name the cell junction which helps to | 4.
stop substances from leaking across a
tissue. 1)

5. Metabolism is a defining feature of all 5.
living organisms. Justify

1)

eflafla)®SlT8 Gan0Man0V)o GaNdMSan0
T2V NITWH|G TVOWIHMEBBB)0 HI6TN
9a]S)aM). @O &S OM1G1H6) N AIV1G3
GBIV MMOTNIT HOMH|S)AN  GaNOM)
Ganoeilafllll @060 S)H6)H>. (1)

A. Collagen B. Chitin C. Lecithin
D. Rubisco

& LISHSI3 M) aIB0EMOEBBSB)OS (al010a00
MSWYIM HAVA RoUWaHM af®)?

(1)
9aldalal@o MSOMGHOHVIN® af)elo laile
B)GSW)0 (aIGD® §&H@WIEIN TVIUW)B>B1H6)) .

(1)

6. Match the following 6. Gal0)oalS] GalBHO)d:
A B
a) Connect bone to bone Blood
b) Connect muscle to bone Ligament
c) Fat storing tissue Tendon
d) Fluid connective tissue Adipose

2)

(2)



10.

11.

12.

Imagine that your friend is an athlete.
He always complains of muscle spasm.
Doctor prescribed him to take calcium
tablets. Give reason. 2

Observe the graph given below.

Transition state

__.,.-f’

Potential Energy
3
alf——

T
I""_-

B0V H@I0ROW @IB:BIONS TVYAOYOI) TVBEO
AMIEN®:B)OS CH0aflaflS)OMOHOD B89)Ola]
alEO®1e]S)aM). CAIHSA HOONVYo @RS
BBl 2O)MN)HUd &)0la)) MTHL. HO06Mo
) ) (2)
21)A9S M1 V]01689)MM (N0al Mok
B>

Activation energy
without enzyme

Activation
energy with snzyme

Product (P]
E

Progress of reaction

Mention the role of enzyme in a
chemical reaction in the above graph

2)
Why do terrestrial animals excrete urea
while most of the aquatic animals
excrete ammonia as waste material.

2
During classroom discussion a student
said that sponges are more complex
than cnidarians. Do you agree with him.

2

Protein digesting enzymes in digestive

Justity.

system are secreted in an inactive form-
Give reason 2

Blood and lymph are the body fluid
which helps in transport of materials in

2)

our body. Differentiate them .

10.

1.

(oaf MO1eH] @M EUWaHo POV (ARG
OODIE3 af)BOOTVAIO Al AUYBDAOL)D:.
(2)

0 wloel Rlal&wBed 01w G@Rem
allrvd2RaIT®). af)INOE3 AlBnal0)e ag)elo
)L Reirlaile:8)esw)o allavd@Ry Ao
(2)
OV 0)21eneMEI® 2132V VGl E:
806mM MIGAOICRSENIUT &S} TLE 136N

@RERMIW @RYEM. af)AM)OB6NS?

cpiIsm)88 R1aild0B o)) 80) &S] @PAl
®0U06|3). ®OB:UE @RM® @0 0lee)
(2)

Baocm@lwoalimundieal ¢@log1m Badlajl

(MNYEENRO? QY BDROHE) .

SO} af) BOOTVD) B WD (0ailaflee) M@
Ma(B;10QUMOWILI06M). &006Mo QY B R0

(2)

B9 .

PamANo £iloaN)o Aldy@M AUYAITLOWHS BIW
@06M @RAI ®E2eN8s QIy®IOTVEBBU af)$)

(2)
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13.

14.

15.

Asthma and emphysema are two
disorders of human respiratory system.
Mention their causes and symptoms.
@
(a) The ears perform two sensory
functions hearing and maintenance of
body balance. It is evident that a deaf
person has the ability to maintain body

balance Justify. 1)
(b) Prepare a flow chart showing

mechanism of hearing )

(A) Figure A and B are the organisms
of two different phyla.

Identify and write the differences
between them.

OR

15.(B)Elephants and whales live in different

habitats but they belong to the same
class. Identifying the class, give reasons
for including them in the same class.

©)

16) Schematically represent hormonal

action of a steriod hormone

©)

13.

@RYIIMAW)o af)oanlTVIa®)o AM)aHY VITVM
QIJQITLOO® MIDWIEN)MM 06N GOIWEBBSBI
6. @RAIW)HS EIGHMEEBBI0 BHOVEMEBBS)0

) LY. (2)

14. (a)cauBailoio oloomlend aqvam)el®o

15

QMoo MEINIBOM)E: af)N® &HBEM63B
B)10S 06NS (AIWOM WAREBBBEM. 6NIWIOMOW
830) AyIO1Bs @O KoToOlea quam)eil
@oaITun MeImI3Em)AI0M &F¥lwyme®
6BBEOM? (1)
(b) (WwoaueM (al&l@ QlKor1B:ElEn)IM afes0
21085 ®QO0IHN)B>. (2)

(A) Ao B o) omE ayoymio eeanel
cBglenss Rlalle:goem. @eal agomelond
e6maN) Gl 01N GRAIW)NS HHAUIRID® Y
63303 GAUAMIA16)2]9) )b, (3)

15(B) @oym:8)0 @lzlomelalno Qi@ @Ralomy

ayaimunoilcd Rlailenymeaissleno snal 6o
GOMNIG3 RUB6|S;EDIWITIHNaM). MAIWOS
KON @101 20leo @@ QWO q|S)
OOQAUIMBB BHOV6EMO af)PIM)dh. (3)

g,g“](soomﬂqﬁ @noodcgmoan‘ls)c@ (lQIBTM
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Sample Question Paper - || (Botany)

Answer Key
Qn. | Sub Value points/Scoring indicators Score Total
No. | Qns splitted score
1 Rhizopus Ya
Rhizopus is a phycomycete others are Ascomycetes/
sac fungi / ascospore producing fungi/ any differentiating Ya 1
reason between ascomycetes and phycomycetes
2 B. (i, ii) 1 1
3 | A | Sub metacentric Ya
B | Telocentric Y2 1
4 Transpiration Guttation
* Evaporative loss of water * Loss of water in the Y2+
by plants form of liquid droplets
* Takes place mainly through | e¢Takes place through 2
stomata in the leaves special openings of veins
near the tip of grass Y2+
blades or leaves of
herbaceous plants
or any two differences between the two -give 2 score
5 Photochemical phase
* Light absorption Ya
* Water splitting / photolysis of water Ya
* Oxygen release 2
* formation of high energy chemical intermediates ATP Ya
and NADPH or
Schematic representation of Non-cyclic photophosphorylation
showing the above mentioned events - give 2 score Ya
6 Zygote
(2n)
Meiosis
syngamy
Spores
5 (n)
%
y /
()
%
o gametophyte
(n)
gametophyte(n) — gametogenesis Ya
syngamy — zygote (2n) %)
formation of spores (n) by meiosis Y2 2
formation of gametophyte (n) from spore Y2




Qn. | Sub Value points/Scoring indicators Score Total
No. | Qns splitted | score
7 * As components of biomolecules and structural elements Ya
of cells.
* Components of energy related chemical compounds /
explanation with example Ya 2
* Activate or inhibit enzymes / its explanation with
example Ya
* Alter the osmotic potential of a cell / its explanation with
example. Ya
8 A B C
Ribosomes| * Roughendoplasmic * Protein synthesis 1, + 1, )
reticulum
Cristae * Infoldings of mito- * Aerobic respiration Yo + 1y
chondria
9 Carboxylation
* RuBP combines with CO, and form 2 molecules of 3-PGA
* This reaction is catalysed by the enzyme RuBisCO/ 1
RuBisCO has much affinity for CO, than for O,
or correct equation with the name of enzyme give 1 score
Oxygenation
RuBP combines with O, and form one molecule of 3PGA and 1 2
phosphoglycolate and this reaction is catalysed by the enzyme
RuBisCO or correct equation with the name of enzyme give
1 score
OR
The active site of RuBisCO can bind to both CO, and O,/
The binding of CO, and O, to RuBisCO is competitive/
The relative concentration of CO, and O, that determines
which of the two will bind to the enzyme. (Give one score to
any of these two responses.)
10 (] — Actinomorphic Ya
i - Bisexual / hermaphrodite Ya
2
C A . epipetalous )
G - superior ovary/ hypogynous Ya
11 | a. | Synapsis 1
b. | Meiosis Ya
Significances
* Conservation of specific chromosome number of each Ya
species 3
* Reduction of chromosome number by half Ya
* Increase genetic variability in the population of Ya

organism from one generation to the next.
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Qn. | Sub Value points/Scoring indicators Score Total
No. | Qns splitted score
12 | a | Sigmoid growth curve / S-shaped growth curve 1
b | Auxin - prevent earlier fruit and leaf drop
- Apical dominance
Gibberellin - Increase length of grape stalk Yo+ Yo
- Bolting in rossette plants
Cytokinins - Rapid cell division Y2+ 1 3
(Name of any two plant growth promoters %2 + 12)
(Any two roles of plant growth promoters %2 + %)
13 * Presence of root hairs
* Homogenous cortex
* Presence of endodermis
* Presence of casparian strips in the endodermis
* Presence of pericycle 2% 6 3
* Large pith
* Radial vascular bundles
* Polyarch/exarch xylem
(Any six responses) or
Correct diagrammatic sketch or cellular diagram with
labelling give full score
B OR || Epidermal Ground Tissue Vascular Tissue OR OR
Tissue system System System
Guard cells | Cortex Phloem
Palisade Parenchyma Xylem
* for writing three tissue systems %2 score each Yax3 3
* For writing one tissue each under each tissue systems
Y2 score each Y2 x 3
14 | a. |Glycolysis/EMP pathway 1
A | b. |* Conversion of 1, 3 bisphosphoglyceric acid (BPGA) to
3 - phosphoglyceric acid (3-PGA) / 1 4
1, 3 bisphosphoglyceric acid+ ADP —»3-Phosphoglyceric
acid + ATP
* Conversion of phosphoenol pyruvate (PEP) to pyruvic acid/ 1
Phosphoenol pyruvate (PEP) + ADP — Pyruvic acid + ATP
* Conversion of 3 - phosphoglyceraldehyde (PGA) to 1,3- 1
bisphosphoglycerate/
3 - phosphoglyceraldehyde (PGA)+ NAD* —»
1,3- bisphosphoglycerate + NADH + H*
OR | OR OR OR
B | a. Alcoholic fermentation 1
b. | * Pyruvic acid is transported from cytoplasm to the
mitochondria and undergoes oxidative decarboxylation 1
* Pyruvic acid + CoA+ NAD* > 2 4
Pyruvate dehydrogenase
Acetyl CoA+ CO, + NADH + H* or explanation of this
Total Score 30 30
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Sample Question Paper - |1 (Zoology)

Answer Key
Qn. | Sub Value points Score Total
No. | Qns

1 Taenia solium 1 1
2 CH,OH 1 1
3 Lecithin 1 1
4 Tight junction 1 1
5 All living organisms exhibit metabolism 1 1
6 a. ligament Ya

b. tendon %)

c. adipose Y2

d. blood %) 2
7 Ca deficiency leads to muscle spasm, endoplasmic reticulam 1

releases when neurotransmitter stimulate the muscle, ca 1 2

bind with troponin that leads to remove the mask of active

site for bind with myosinhead resulting contraction of

muscle/flow chart of muscle contraction.
8 Enzyme + substrates EScomplex Ya

EScomplex need less activation energy, Ya

enzyme lowers the activation energy, Ya

when enzyme is absent activation energy is high Ya 2
9 Ammonia is toxic, soluble in water, requires large amount 1

of water for elimination, urea is less toxic so no harm if 1 2

remains in the body, excess water to be needed for NH,

become less toxic.
10 No, Sponges - cellular level of organization/aggregation of 1

ells/ primitive/asymmetrical.

Cnidarians - tissue level, diploblastic/radially symmetrical 1 2
11 Intestinal enzyme/ proteases are proteolytic, digest the 1

cellular and extra cellular proteins of the wall of intestine 1 2
12 Blood-the fluid present in the blood vessel, red coloured fluid 1

connective system, consists of plasma-plasma protein, blood

cells. Lymph the interstitial fluid present in the lymphatic, 1 2

vessel, plasma proteins, RBC, platelets are absent,
responsible for immune response.
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Qn. | Sub Value points Score Total
No. | Qns splitted score
13 Emphysema alveolar wall damage due to cigarette smoking 1
Asthma inflammation of bronchioles due to allergy.....dust,
pollen, some food etc. 1 2
14 Semicircular canals & vestibule helps in balancing 1
Pinnae - tympanum - ear ossicles -ovalwindow- scala
vestibule - scala tympani- organ of corti auditory nerve. 2 3
15A A B
Platyhelminthes Aschelminthes 1
a. | Flat body Round
b. | Acoelomate Psuedocoelomate 3
c. | Flame cells Excretory tube
d. | Organ level organisation Organ system level 2
organisation
OR
B Mammalia
a. | pinnae
b. | hairy exoskeleton
c. | mammary gland 3
d. | viviparous
e. | heterodont 2
f. | diaphragm (correct four responses)

16 Steroid hormone = Cellmembrane = nucleus = hormone - 1o, 1k
receptor complex 2 genome > mRNA - protein > Yo, Ya
physiological responses. Yo, V2 3
(any six points)

Total Score 30 30
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